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(A) Choosé the correct option for the following
questions - 1x8=8

1‘.‘ Acid Test ratio is also known a$
(@) Current ratio
(b) Liquid ratjo
(c) Absolute liquid ratio
(d) None of the above
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e

- Debt © Eqmt}’ Ratlo 8 use In trend analysis the- year ‘which is used for the
calculation of trend percentage of other years are
known as

(a) quuldlty of the

i s th e firm (2) Initial year (b) Curfent year
fitability of the firm | . (©) Previous -year - (d) Base Year
@ None of the above - ' ion is true ?

‘ Which of the following equauon‘ls.
S S - ital + Liability +
3. Whlch of the following are € the Componen; of the | (@) Asset + Expenses = Capital »
financia] Statement ? | c |

Revenue
(a) Cash Flow Statement

' - ‘ Asset + Revenue =
(b) Balance Shegt . ' ‘ Expenses

o + Assets +
(¢) Liability + Expenses = Capital
' ‘ Revenue

(C) Prof t & Loss A/c

(d) Asset + Liability = Capital
4. Which of the follo

' ° Current liability 9
(a) Bank Overdraﬁ

Wiﬂg Is not. an

Xample (p /

lysis to find
In indirect method of cash flow a‘:il};y increase
out the cash flow from operating activity,

. ' ,, in current asset is
(b) Outstanding Salary | (2) Added 1o Net profit
(b) Deducteq Net profit
(¢) Neither added nor deducted to Net profit

(d) None of the above

(C) Prepajd Expenge

.(d) None of the aboye
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. . on

(a) Accrual basis  (b) Caqp baci
: v asis

(©) Both @) & () () None o the ab
S = above.
(B) Answer the following questiop, .. -

1. Explain: the importance of | Panlo

analysis.

statement as a tool of fmanCommon size -

cial statement

2. What are the essentig]
financial statement ?
3. What is annual and ingeripy ~
- State some of the differep, t?{:anclal report 9.

and interim financial report €tween annya] -

. ) 2+3=5
4. Write short notes on the
R 'vfollowin 9

(i) Current Ratio : 2‘/z+21/2=5

(ii) Debtors Turnover Ratj,,

(C) Answer the following questions :

1. Explain the reason why .
'tren.d. analysis is usef};ld(’)fg;ojhtehmg that 5
decision and planning of 3 firp, o financig)

g;nd percentage  from the ) foll;repflre

ABC Ltd, ang -y, fnancial Statemen o

improvement i e Whether there \

10 the trengs, 4+ ;SO arIly
=14
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qualities of 5 good

-;(;;: Sdles | Cost of Sale Other.Expenses 'Pfoﬁt
| ®) ®R) | ®) | ®
2015 | 200000 | 80000 | 40000 | 80000
2016 | 2,20,000 88,000 | 60,000 | 72,000
2017 2,60,000 | 1,04,000 92,000 _64,090'

2018 320000 | 128000 | 144000 |48000

2019 |3,60,000 | 1,60,000 1,60,000 {40,000

2020 | 3,80,000 2,00,000 1,48,000 | 32,000
Or

Prepare a common-size statement with the help of the

following information taken from. the financial

statement of ABC Ltd, and XYZ Ltd. Also analyse
the Profitability, short-term and long-term financial
position and comment which’ firm is in the befter

financial condition than other. 10+4=14
Particulars l ABC Ltd XYZ Ltd
31.12:2019 | 31-12-2019
(Rs) (Rs)
Net Sales 30,00,000 50,00,000
Cost of sales 13,00,000 25,00,000
Gross profit 17,00,000 25,00,000
Total Expenses 10,00,000 120,00,000
L__,Eff-me 7,00,000 5,00,000
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Liabilites ~ " [ ABCLw. T XYZ, T
| 31-122019 | 31-12-2019
— ; Rs) | (Rs.)
Capital & Liabilities T
* | Equity Share Capltal 20,00,000 40.00.000
10% Preference share Capltal 11,00,000 25?0(.),000
Net Profit 7,00,000 5’00’000‘
. Total Shareholders fund 38,00,000 79’00—’0-‘-)—0-—
Long term loan from the bank 500,000 | ————
Current Liabilities o
Sundry Creditors . 5’00’000 10.00.000
Bills Payable 400,000 7,00,
Bank Overdraft ' 2_’00’000 4’00’300'
Total Current Liabilities 12,00,655 \2‘“0(1‘
Assets 35,00,000 | 70000001
Assets 1 70,00,000 |
'| Land & Building 21.00.000 |
. R g s ’0
" Plant & Machinery 10,00 Ogg 30,00,000
Total Fixed Assets- 310,000 4 19,00,000
| Current Assets. ————1_49,00,000 |
Sundry Debtors 9 C
. ’00’00
Bills Receivable so000g | 30000
 Short term investment 3,00,000 6,50,000
- 3V 00 .
Total Current assets ?50,000
2400000 |™31,00,000
5.00,000- 176,60, 000
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ow statement ?

What are the lnmtatlons of fund ﬂ
Explain how fund flow statement i dlffere7m7iir-(itti1
a cash flow" statement ? 5 ‘
' ' Or t
With the help of the’ follovin fgthemgl?gaﬂff
prepare a cash flow statement o direct method N
 for the year ended 31- 12-2021 in ip u
Balance Sheet - —__ -
Liabilities .31'12'202: %_6!(%()%6_
Shareholders Fund 1,40,330: 17,000
Profit & Loss A/C \ . 14, S 20,000
Long Term Loan ~ ,47,0‘00
Sundry Creditors 20,3((1).2 6,000
Bills Payable 2’0 o0 | 4000
Tax Payable WW
“ 131122021
- Kssets 31122020 RS
Land and Buildings 70000 1 - ’28’,000
Plant and Machinery 30,000 24,000
Debtors - ' 3,000 , ' {000 ;
 Bills Payable 2,000 5 5000
Stock 30,000 ‘ 6,0 00
Prepaid Expenses 4,000 7’. 000
~ Cash 40,000 ’5’252”066—
4 - 1,84,000 | 22—
) = [Turn over
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e Statement

ratio analysis as 2

3. Explain the significances of -« What are the
o Cr i tool of financial statement analgislj using Ratio
Particulars 31-12-2021 'Pa”iculars _____,_,T precautions  to be taken W 7 47=14
To Opening Stock | 30,000 By S : _323-3’03 ; analysis 7
es
1 2,17,000 |
To Purchase ,96,000 Closing o o Or,' Qe e
Lojross 16,000 R The- following information & & Sons Ltd. For
. Profit ¢/d S Balance Sheet of Basumatf‘ry 14
2,72,000 R the year ended 31'3'2020 ¢ 00
s e | . Wi t to Rs 5,00,0
2,72,000 (a) Share Capital amou®
To Salaries 28,000 |g RN | s is Rs 1,00,000
s iy Y Grogg 46.000 |1 (b) Reserve and surpluse :
0 néen ) 2
ol b (c) Working Capital is Rs 1,00,000
To Depreciation
On Land & (d) Current Ratio 2:1
i i 8’0 | - - . .
Building 00 . (e) Liquid Ratio 1:1 al
: : capi
To Taxes ‘ 4,000 (f) Fixed Assets is 120 % of the -P it
To Net Profit ¢/f | 4,000 . @ L gAML Fixed Asset is Rs 1:
| g ong term lO
| .
s » v . ~ludes inventory,
46,000 Tk e Total Current Assets .mC;Ie in the ratio of
46,000 | Receivables and Cash which e liabilities
To Dividend 1,000 |g, 5 = 4:3:1 respectively. ”ll‘;)talpayable and Bank
- ala includ edit ills : 131
To Balance c/f 17,000 fice byg 14,000 InCINte! RORCOIOLS, B . the ratio of . 5:3:2
——— | ZY Net Prof; overdraft which are 1n ems of assets
18,000 w 4,000 respectively. There are no other * te the
et | o AR ired to compll €
_w ~and liabilities. You are requ

Sons as on
balance sheet of Basumatary and

31-12-2020.
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, 4;' - Explain the reason' why we need to analyse the
financial statement of a firm. Explain some of -
~ the inherent drawbacks of the financial statement -
camalysis. ©~ 7 guaog
o Or ’ V

What is Accounting Information System (AIS) ?
What are the components of Accounting

 Information System (AIS) ? Explain some of the

. benefits that a business firm can have due to the
use of Accounting Information System (AIS).
o L 2461614
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